1. Zapiši z desetiškimi enotami, številom in besedo, kot je prikazano.
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2. Zapiši s številom.

dvesto šestdeset 260
devetsto petinšestdeset 965
tristo štiriindevetdeset 394
osemsto pet 805
dvesto dvajset 220
sedemsto dvajset 720
petsto devet 509
devetsto deset 910

3. Nadaljuj zaporedje.
407, 408, 409, 410, 411, 412, 413, 414
854, 853, 952, 951, 950, 949, 948, 947
260, 270, 280, 290, 300, 310, 320, 330
950, 940, 930, 920, 910, 900, 890, 880
384, 386, 388, 390, 392, 394, 396, 398
707, 705, 703, 701, 699, 697, 695, 693
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